
1

TP
20

4 
R

ev
. A

004-0952-99 [Revised:  mo/dd/yr]

3 Accessory Mounting Brackets.   004-0957-99

[Revised:  12/12/11]

Slim Line CPU Holder - 9A443001 
(includes items 1 thru 8)
Item Description Qty.

1 Nylon Strap 1
2 CPU Holder - Main Body 1
3 Refer to: “Accessory Mounting Brackets” Ref
4 Screw (#10-24 x 7/8”) 4
5 Carriage Bolt (1/4-20 x 1/2”) 2
6 Knob (1/4-20 thread) 2
7 CPU Holder - Clamp 1
8 Non-Skid Pad 2

MA8136i

2	 AS-321

1	 X09263-5

4	 AS-212

5	 AS-323

AS-322	 7

2965	 6

WK-016	 8

Page Applies To Models Built:
PRIOR to 12/12/2011

004-0957-99.pdf


2

TP
20

4 
R

ev
. A

004-0952-99 [Revised:  10/10/12]

MA8391i

Slim Line CPU Holder - 9A443001 
(includes items 1 thru 18)
Item Description Qty.

1 Spacer 2
2 Ratchet Wheel Spacer 2
3 Cord Puck 2
4 Washer (#10) 2
5 Screw (#10-24 x 7/8”) 6
6 Wall Mount Kit (Includes Items 7 & 8) 1
7 • Threaded Snap Toggle (Heavy Duty) 6
8 • Pan Head Machine Screw (#10-24 x 1”) 4
9 Refer to: “Accessory Mounting Brackets” Ref
10 Non-Skid Pad 8
11 CPU - Main Body 1
12 Techflex Sleeve (5 ft) 1
13 Carriage Bolt (1/4-20 x 1/2”) 2
14 Knob 2
15 Washer (5/16”) 2
16 Nylon Strap 1
17 CPU - Clamp 1
18 Weldnut 2

3	 JMI067

ALT-4X3	 1

AS-420	 2 4	 AS-511

5	 AS-212

10	 WK-016

11	 AS-321X09263-5	 16

AS-322	 17

ENC-147	 15

2965	 14

JMI064	 18

5

9 Accy Mtg Brackets.   004-0957-99

Page Applies To Models Built:
AFTER 12/12/2011

13	 AS-323
12	 F6NO.75BK

8	 AS-859

WM-37	 6

7	 AS-1068

004-0957-99.pdf

	Button 14: 
	Page 1: Off
	Page 2: 

	Button 18: 
	Page 1: Off
	Page 2: 



